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Analysis using a new bid index about the tendency of the bid price in the competitive bidding
process at public construction.

By Tatsunori MAKIZUMI, Tetsumasa TANAKA

In this paper, a new bid index different from the successful bid rate, which evaluates adequacy of the bid price in a bidding
process of selecting contractor to do aninfrastructure construction, is proposed.

In this bid index, a predetermined bid value is correspond to 100% and a limit price necessary to survey is 0%, so that the bid
price amost lower than the cost is expressed by the negative value. Using thisindex, all results of the competitive bidding process
takenin ministry of land, infrastructure and Transport after September of 2005, are analysed.
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